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CDS 1 2025 LIVE CLASS - MATHS - PART 6

Q) In the figure given below, AC 1s parallel to ED andAB =DE
=5 cm and BC =7 cm. What1s the area ABDE : area BDE :

9 0
area BCD equal to ABDE Js a /aam//dﬁmm.

E 5cm D

Fxh :ZLMM y aLMM

F4 5 3
1
(@ 10:5:7y (b) 8:4:7 b’ 59

(¢c) 2:1:2 (d) 8:4:5
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Q) In the figure given below, AC 1s parallel to ED andAB =DE
=5 cm and BC =7 cm. What is the area ABDE : area BDE :
arca BCD equal to ?

E Scm D
A Scm B cm C
@ 10:5:7 (b) 8:4:7
(¢c) 2:1:2 (d) 8:4:5

Ans: (a)
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Q) Let ABCD be arectangle. Let P, Q, R, S be the mid-points of
sides AB, BC, CD, DArespectively. Then the quadrilateral

PQRS1sa
(@) Square 4 by - OR RS = 5P
(b) Rectangle, but need not be a square q =
(©) Rhombus, but need not be a square v~ ( M Al =8 p)
(d) Parallelogram, but need not be a rhombus — — I )
A P 8 PR ‘_fl AE: (P@R(’ fof - W'dmode

spse — P lIAC = P9=rhc

4D L 5 (pg, T fpﬂ,;{—gw
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Q) Let ABCD be arectangle. Let P, Q, R, S be the mid-points of
sides AB, BC, CD, DArespectively. Then the quadrilateral
PQRS1sa
(a) Square
(b) Rectangle, but need not be a square
(¢) Rhombus, but need not be a square
(d) Parallelogram, but need not be a rhombus

Ans: (c)
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Q) If a quadrilateral has an inscribed circle, then the sum of a
pair of opposite sides equals
(a) Halfthe sum of the diagonals
(b) Sum of the other pair of opposite sides S
(c) Sum of two adjacent sides L+b =
(d) None of the above
2 = A+ d‘

!): CL'f‘_Z______

A+b = 1+Z +UTL

d+ ¢

—
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Q) If a quadrilateral has an inscribed circle, then the sum of a
pair of opposite sides equals
(a) Halfthe sum of the diagonals
(b) Sum of the other pair of opposite sides
(c) Sum of two adjacent sides
(d) None of the above

Ans: (b)
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Q) A square 1s inscribed in a right-angled triangle with legs p
and q, and has a common right angle with the triangle. The

diagonal of the square 1s given by

Pq pPq
(2) p+2q (b) 2p+q
\/qu 2pq
(c (d)
ptq ptq

m(b/,}go) - m(mpg) +ar[.zs 6/36)

v

pg

Py

ar (gzuwe DE@
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Q) A square 1s inscribed in a right-angled triangle with legs p
and q, and has a common right angle with the triangle. The
diagonal of the square 1s given by

Pq pPq

(2) p+2q (b) 2p+q
© \/qu d 2pq
ptq ptq

Ans: (c)
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Consider a circle of area 9n square unit and an

equilateral triangle ABC as shown in the figure What is the length of the side of the triangle
given below. ABC ?
PYQ -2024 -1
(a) 243 unit Q

(b) 43 unit \/

A
| (c) 6+/3 unit
!
g .
' (d) 843 unit o :
y i13 * alhfude = diamefer
|
B C 7/}1; ?W ﬁ o = A
3 g A
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ABC is a right-angled triangle with £ ABC = 90°,
The centre of the incircle of the given triangle is at
0, whose radius is 2 em. Two more circles with
centres at O; and O, touch this circle and the two
sides as shown in the figure given below.

Further, MA: MC =2: 3.

PHoB s

\\

At
AB

bC -

| D)

a XZMML

Ly

AL+
3X 1+ 4

X

—
-

PYQ -2024 -1

Jz [

/

[0

(@i=]
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What is AB + BC equal to ?
(a) 10ecm
(b) 12¢m
(e) 13 em
(d) 14 em

(@i=]
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What is the radius of the circle with centre at

0,7
(a)
(b)
(c)
(d)

——

4- 5
1+J§
2+JE_;

5 Apo, g b APD (AA A!'mrofarf!b‘)

AD = Do,

AP oy
AP—DP  _ v
? 2
4-3lar =1

v 2
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4-3for -1
1

2

§ _ (/m = Yy
)
(f”f/v)z = (C{fz—;)
6Y - 6Yr +10y > = 32y

ot — 9pv +6f/ic?_

- br+ 4 =0

——

-_—

r-= o6

ﬁ AX/
:éir

2 ?":37“/;o(
_ 3¢
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What is the radius of the circle with centre at

0, ?
(a) 5—@
by 1+2.5
22— 441
© Y10 k
9
@ 22-92@
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In a triangle ABC, D is a point on BC.
If AB-DC = AC-BD, ZBAD = «a and
ZLCAD = 3 then which one of the
following 1s correct ?

(a) a=p S
(b) a=2p
2 e ¥
€) 2a=p ’
(d) 2a=38
AB.pe = AC B)
8D PADC A8 pe
\_ \ 7 B) ¢
9; ’/aY —

=/

PYQ-2024-1I

N
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If p, g and r are the lengths (in cm) of
the sides of a right-angled triangle,

then (p —g-r)g-r—-p)r-p-q)
is always

(a) Positi\j’eunly - éf)_ (f”)i{z'(”ﬁ)ffy” %f[)f

(b) Negative only /
(c) Non-positive only ( )

(d) Non-negative only —Ve —Ve —Ve — @
Pty v
g+r 77

rep 71

PYQ-2024-1I

Sum lﬁl o g I
O"Tw‘n Fhan  Thivd ffdf(

___________._b
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. A square is drawn inside a square of
side 14cm in such a way that the
corners of the inner square coincide
with the mid points of the sides of the
outer square. What is the area lying

between the two squares ? 7 T TOI? hF fnmb?/%

(a) 98 square cm /li/}%;ﬂf)ﬂf ST,
= 9¢ m”

PYQ-2024-1I

(b) 56 square cm
(c) 49 square cm

(d) 24-5 square cm

(08)

—

(19"~ (#2)"
/?é _?? - 7?(1”)2
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Let MN be a chord of length 16 cm of a PYQ — 2024 - Il
circle with centre at O and radius 10 cm.

The tangents at M and N intersect at a

point P. Further, OP intersects MN perpendi-

cularly at Q.

What is OQ equal to ?

I 9»("7},# ffw'aﬁfe 0

(a) 5cm

(b) ﬁcm/

(c) 7cm

(d) 8 cm
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What is PM equal to ?

PYQ -2024 - Il
(a) 10 cm
(b) 12 cm
204M and 2 pmp,
©) %gcm‘/ (srmi gy [ﬁ( AA)
08 - oM
@) %O-cm OM PM
b1
¢ A

)
p = M8 = 12

7
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. . 9
What is the area of triangle OMN * PYQ - 2024 - I

(a) 36 square cm

(b) 40 square cm

(c) 45 square cm

(d) 48 square cm
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There are n concentric squares. The

area of the innermost square is 1 unit PYQ - 2024 - I
and the distance between corres-

ponding comers of any twoO consecu- ‘Which of the statements giVEH above

tive squares is 1 unit. Consider the is/are correct ?

following statements :
(a) Ionly \/ N
I. The diagonal of the nth square is
o+ 2 — 2/ (b) II only

(¢) Both I and II

II. The area included between nth
square and (n-1)th square is
independent of » o

(1) ﬁv“ﬂ»-l) | — 2
d — V4 +9

(d) Neither I nor II -

3 — Va+d+4 :ﬁ«f‘f
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In a rectangle ABCD, AC is one of

the diagonals. If 4C+ AB=34D and PYQ - 2024 - i
AC—-AD =4 units, then what 1s the

area of the triangle ?

(a) 24 square unit A ¢ B

[
(b) 36 square unit é I ( gl__ x6x¢ = aW )39'. U”;‘/i
(c) 48 square unit —

(d) 72 square unit ), ¢
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Q) The area of a rhombus with side 13cm and one diagonal
10 cm will be
(a) 140 square cm (b) 130 square cm
(¢) 120 square cm (d) 110 square cm



CDS 1 2025 LIVE CLASS - MATHS - PART 6

Q) The area of a rhombus with side 13cm and one diagonal
10 cm will be
(a) 140 square cm (b) 130 square cm
(¢) 120 square cm (d) 110 square cm

Ans: (c)
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Q)In a trapezium, the two non-parallel sides are equal in
length, each being of 5 cm. The parallel sides are at a
distance of 3 cm apart. If the smaller side of the parallel
sides 1s of length 2 cm, then the sum of the diagonals of
the trapezium 1s

@ 10v5cm (b) 6x/§cm/ JpEC,
(© 5v/5cm d 3v5cm b att 6 = S
A Z 8 - - AC'}S[&”
5 g —
b BYF,
»
PFoht—ez—ph ‘ ppt=3tte" = 45
gFﬂﬂ\/}

/
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Q)In a trapezium, the two non-parallel sides are equal in
length, each being of 5 cm. The parallel sides are at a
distance of 3 cm apart. If the smaller side of the parallel
sides 1s of length 2 cm, then the sum of the diagonals of
the trapezium 1s

(a) 10+/5 cm (b) 6+/5 cm
(©) 5v5cm d) 3v5em

Ans: (b)
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Q) In the figure given above, ABCD is a trapezium. EF
parallel to AD and BG. Zy is equal to

@) 30° (b§ 45°
(c) 60° d) 65°
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Q) In the figure given above, ABCD is a trapezium. EF
parallel to AD and BG. Zy is equal to

@) 30° (b§ 45°
(c) 60° d) 65°
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Q) ABCD 1s a trapezium with parallel sides AB =2 ¢cm and DC =
3 cm. E and [ are the mid-points of the non-parallel sides. The
ratio of area of ABFF to area of EFCD i1s
@ 9:10 (b) 8:9
(c) 9:11 (d 11:9
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Q) ABCD 1s a trapezium with parallel sides AB =2 ¢cm and DC =
3 cm. E and [ are the mid-points of the non-parallel sides. The
ratio of area of ABFF to area of EFCD i1s
@ 9:10 (b) 8:9
(c) 9:11 (d 11:9

Ans: (c)
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Q) If the diagonals of a quadrilateral are equal and bisect each
other at right angles, then the quadrilateral 1s a
(a) rectangle (b) square
(c¢) rhombus (d) trapezium



CDS 1 2025 LIVE CLASS - MATHS - PART 6

Q) If the diagonals of a quadrilateral are equal and bisect each
other at right angles, then the quadrilateral 1s a
(a) rectangle (b) square
(c¢) rhombus (d) trapezium

Ans: (b)
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Q) In the figure given below, ABCD is a parallelogram. P is
a point in BC such that PB : PC =1 : 2. DP produced
meets AB produced at Q. If the area of the ABPQ is 20
sq units, what 1s the area of the ADCP?

A B

Q

D C
(@) 20 sq units (b) 30 sq units
(¢) 40 sq units (d) None of these
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Q) In the figure given below, ABCD is a parallelogram. P is
a point in BC such that PB : PC =1 : 2. DP produced
meets AB produced at Q. If the area of the ABPQ is 20
sq units, what 1s the area of the ADCP?

A B
Q
D C
(@) 20 sq units (b) 30 sq units
(¢) 40 sq units (d) None of these

Ans: (d)
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Q) In the given figure, ABCD is a quadrilateral with 4B
parallel to DC and AD parallel to BC, ADC1s aright angle.
If the perimeter of the AABE 1s 6 units. What is the area
of the quadrilateral ?

A

D

(@) 2+/3 sq units

(¢) 3 sq units

60°

60°

E

B

C

(b) 4 sq units
(d) 4.3 sq units



CDS 1 2025 LIVE CLASS - MATHS - PART 6

Q) In the given figure, ABCD is a quadrilateral with 4B
parallel to DC and AD parallel to BC, ADC1s aright angle.
If the perimeter of the AABE 1s 6 units. What is the area
of the quadrilateral ?

A

D

(@) 2+/3 sq units

(¢) 3 sq units

Ans: (a)

60°

60°

E

B

C

(b) 4 sq units
(d) 4.3 sq units
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Q)

0

In the given figure, if ZPAQ=59°, ZAPD =40°, then what
1s LZAQB?

(@ 19° (b) 20°

(© 22 d 27

(@i=]
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Q)

0

In the given figure, if ZPAQ=59°, ZAPD =40°, then what
1s LZAQB?

(@ 19° (b) 20°

(© 22 d 27

Ans: (c)

(@i=]
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X
Q) In the given figure, if §=§=§, where ZDCQ = x,

ZBPC =y and ZDQC = z, then what are the values of
x, y and z, respectively?

(@) 33°,44° and 55° (b) 36°,48° and 60°
(©) 39°,52° and 65° (d) 42°,56° and 70°
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X z
Q) In the given figure, if §=§=§, where ZDCQ = x,

ZBPC =y and ZDQC = z, then what are the values of
x, y and z, respectively?

(@) 33°,44° and 55° (b) 36°,48° and 60°
(©) 39°,52° and 65° (d) 42°,56° and 70°

Ans: (b)
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Q)

Two circles with centres 4 and B touch each other
internally, as shown in the figure given above. Their radii
are 5 and 3 units, respectively. Perpendicular bisector of
AB meets the bigger circle in P and (. What 1s the length
of PO?

@ 246 b) 34
© 46 d 62
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Q)

Two circles with centres 4 and B touch each other
internally, as shown in the figure given above. Their radii
are 5 and 3 units, respectively. Perpendicular bisector of
AB meets the bigger circle in P and (. What 1s the length
of PO?

@ 246 b) 34
© 46 d 62
Ans: (c)
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Q)

In the figure given above, what is ZBYX equal to?

(a) 85° (b) 50°
(c) 45° (d) 9°
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Q)

In the figure given above, what is ZBYX equal to?

(a) 85° (b) 50°
(c) 45° (d) 9°

Ans: (a)
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Q) B

In the figure given above, O 1s the centre of the circle.
What 15 ZA0OC?

(a) 160° (b) 150°

(© 120° (d) 100°
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Q) B

In the figure given above, O is the centre of the circle.
What 1s L40C?

(a) 160° (b) 150°
(c) 120° (d) 100°

Ans: (d)
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Q)

\
J

D

In the figure given above, 4 is the centre of the circle and
AB = BC = CD. What 1s the value of x?
1

(@) 20° (b) 223°

(c) 25° (d) None of these

C
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Q)

\
J

D

In the figure given above, 4 is the centre of the circle and
AB = BC = CD. What 1s the value of x?

C

1
(@) 20° (b) 225"
(c) 25° (d) None of these

Ans: (d)
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Q)

In the figure given above, what 1s LCBA?
(@) 30° (b) 45°
(© 50° (d) 60



CDS 1 2025 LIVE CLASS - MATHS - PART 6

Q)

In the figure given above, what 1s LCBA?
(@) 30° (b) 45°
(c) 50° (d) 60°

Ans: (d)
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Q)

&
P R
X
Ot M
U T 4

In the figure given above, O 1s the centre of the circle.
The line UTV 1s a tangent to the circle at 7, LVTR = 52°
and APTR 1s an 1sosceles triangle such that 7P = TR,
What 1s Zx + £y + £z equal to?

(@) 175° (b) 208°

(c) 218° (d) 250°

(@i=]
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Q)

O
P R
X
Ot M
U T 4

In the figure given above, O 1s the centre of the circle.
The line UTV 1s a tangent to the circle at 7, LVTR = 52°
and APTR 1s an 1sosceles triangle such that 7P = TR,
What 1s £x + Ly + £z equal to?

(@) 175° (b) 208°

(c) 218° (d) 250°

Ans: (c)

(@i=]
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Q) A circle of radius 10 cm has an equilateral triangle
inscribed in it. The length of the perpendicular drawn
from the centre to any side of the triangle 1s

@) 2.5v3cm ®) 5V3cm
© 104/3cm (d) None of these
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Q) A circle of radius 10 cm has an equilateral triangle
inscribed in it. The length of the perpendicular drawn
from the centre to any side of the triangle 1s

@ 2.5v3cm ® 5V3cm
(c) 10/3 cm (d) None of these

Ans: (d)
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Q) AC is the diameter of the circumcircle of the cyclic
quadrilateral ABCD. If ZBDC =42°, then what 1s ZACB
equal to?

(a) 42° (b) 45°
(c) 48° (d) 58°
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Q) AC is the diameter of the circumcircle of the cyclic
quadrilateral ABCD. If ZBDC =42°, then what 1s ZACB

equal to?
(a) 42° (b) 45°
(c) 48° d) 58

Ans: (c)
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Q) A tangent is drawn from an external point D to a circle of
radius 3 units at P such that DP =4 units. If O is the centre
of the circle, the the sine of the angle ODP 1s
(@) 4/5 (b) 3/4
(c) 3/5 (d)y 12
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Q) A tangent is drawn from an external point D to a circle of
radius 3 units at P such that DP =4 units. If O is the centre
of the circle, the the sine of the angle ODP 1s
(@) 4/5 (b) 3/4
(c) 3/5 (d)y 12

Ans: (c)
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Q) ABC 1s an equilateral triangle. The side BC 1s trisected at D
such that BC =3 BD. What is the ratio of 4AD” to AB*?
(@) 7:9 (b) 1:3 (¢c) 5:7 d) 1:2
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Q) ABC 1s an equilateral triangle. The side BC 1s trisected at D
such that BC =3 BD. What is the ratio of 4AD” to AB*?
(@) 7:9 (b) 1:3 (¢c) 5:7 (d) 1:2

Ans: (a)
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Q) Out of two concentric circles, the diameter of the outer
circle 1s 26 cm and the chord MN of length 24cm 1s
tangent to the inner circle. The radius of the inner circle
1S
(@) Scm (b) 6cm
(c) 8cm (d) 10cm
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Q) Out of two concentric circles, the diameter of the outer
circle 1s 26 cm and the chord MN of length 24cm 1s
tangent to the inner circle. The radius of the inner circle

1S
(@) Scm (b) 6cm
(¢c) 8cm (d 10cm

Ans: (a)
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Q) Two circles, each of radius r, with centres P and O, are
such that each circle passes through the centre of the
other circle. Then the area common to the circles is less
than one-third of the sum of the areas of the two circles

by
N 2
@ = ®)
2
©) Var d /32

2
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Q) Two circles, each of radius r, with centres P and O, are
such that each circle passes through the centre of the
other circle. Then the area common to the circles is less
than one-third of the sum of the areas of the two circles

by
N 2
@ = ®)
2
©) Var d /32

2

Ans: (c)
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Q) In a AABC, AB = BC = CA. The ratio of the radius of the
circumcircle to that of the incircle 1s
@) 2:1 (b) 3:1
(c) 3:2 (d) None of these
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Q) In a AABC, AB = BC = CA. The ratio of the radius of the
circumcircle to that of the incircle 1s
@) 2:1 (b) 3:1
(c) 3:2 (d) None of these

Ans: (a)
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Q) An equilateral triangle BOC 1s drawn mside a square ABCD.
Ifangle AOD=20, what 1s tanf equal to ?

@ 2-43 b®) 1+4/2
©) 4-43 @ 2+.43



CDS 1 2025 LIVE CLASS - MATHS - PART 6

Q)An equilateral triangle BOC 1s drawn 1nside a square ABCD.
Ifangle AOD=20, what 1s tanf equal to ?

@ 2-43 b®) 1+4/2
©) 4-43 @ 2+.43

Ans: (d)
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Q) Suppose ABC1s a triangle with AB of unit length Dand E
are the points lying on AB and AC respectively such that
BC and DE areparallel. If the area of triangle ABC 1s twice
the area of triangle ADE, then the length of AD 1s

(a) % unit (b) % unit
(©) L unit (d) L unit
J2 J3
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Q) Suppose ABC1s a triangle with AB of unit length Dand E
are the points lying on AB and AC respectively such that
BCand DE are parallel. If the area of triangle ABC is twice
the area of triangle ADE, then the length of AD 1s

(a) % unit (b) % unit
(©) L unit (d) L unit
J2 J3

Ans: (c)



CDS 1 2025 LIVE CLASS - MATHS - PART 6

Q) Inthe figure (not drawn to scale) given below, Pis a point
on AB such that AP: PB=4:3. PQ1s parallel to AC and

OD 1s parallel to CP. In A ARC, ZARC =90°, and 1n

APQS, £ PSO=90°. The length of OS1s 6 cms. What 1s
ratio AP : PD?

C

(@) 10:3 (b) 2:1
() 7:3 (d 8:3

(@i=]

EXAMS
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Q) Inthe figure (not drawn to scale) given below, P 1s a point
on AB such that AP : PB=4:3. PQ1s parallel to AC and

OD 1s parallel to CP.In A ARC, ZARC = 90°, and 1n

APQOS, / PSQO=90°. The length of OS1s 6 cms. What 1s
ratio AP : PD?

C

(@) 10:3 b)) 2:1
(© 7:3 (d) 8:3
Ans: (c)

(@i=]

EXAMS
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Q) Let Sbe an arbitrary point on the side PQ of an a cute angle
APQR. Let T be the point of intersection of OR extended
with the straight line PT drawn parallel to SR through P. Let
U be the point of intersection of PR extended with the
straight line QU drawn parallel to SR through Q. If PT=a
and QU = b, then the length of SR 1s

a+b a—b
(@) o (b) h
ab q ab
(©) a+b (@) a—-b
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Q) Let Sbe an arbitrary point on the side PQ of an a cute angle
APQR. Let T be the point of intersection of OR extended
with the straight line PT drawn parallel to SR through P. Let
U be the point of intersection of PR extended with the
straight line QU drawn parallel to SR through Q. If PT=a
and QU = b, then the length of SR 1s

a+b a—b
(@) o (b) h
ab d ab
(©) a+b (@) a—-b

Ans: (c)
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Q)In a right angled AABC, ZC=90° and CD is perpendicular

1
to AB. It AB x CD = CA4 x CB, then o is equal to

1 1 1 1
(a) B2 A2 (b) B2 (B2
1 1 1 1

+ — 51 >
© Bt s @ For "ot h
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Q)In a right angled AABC, ZC=90° and CD is perpendicular

1
to AB. It AB x CD = CA4 x CB, then o is equal to

1 1 1 1
(a) B2 A2 (b) B2 (B2

: + : d : - : 1fCA>C
© BC2 T CA2 (d) BC2 o2t > (b

Ans: (c)
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